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V) Electric circuits Joseph A. Edminister schaum’s outline series, McGraw — Hill company, 1983.

¥) Engineering circuits analysis, W. H. Hayt and J. E. Kemmerly, McGraw — Hill company, 1986.

¥) Electric circuits, Charles K — Alexander Matthew N.O. Sadi KU, McGraw. Hill company, (2004)

f) Electric circuits analysis, R. K. Mehta, A. K. Mal C. B.S. (2002)

)L)A_,p‘}.ls).;:M’sm)’_o§M)|‘)w¢)‘])lg:#E.(pgéMng'M)nglb,'M@h‘Q)ﬁ ()

VYR o8 oty ol il o YT o

AYAY 500 ety ol jLail o S5 an wole caigs :idli ((das pué g Jas) (S piSUl sl oo  Jguol &y (5

VFe¥ Jlo G i oylojlw (sl yg0 3T ¥ 15m acgozxo (Y

rrA



	1
	2
	3
	4
	5
	6



